

and denote by $L_{\bar{p}}(Q)$, $p = (p_1, \dots, p_n)$ a space of functions $f = f(x)$ for which the integral [2]

$$\|f\|_{\bar{p}} \stackrel{def}{=} \left\| \left(\left\| \dots \left(\|f\|_{p_1} \right) \dots \left\|_{p_{n-1}} \right\| \right\|_{p_n} \right).$$

exists and finite.

Let's consider the best approximation of the function $f \in L_{\bar{p}}(Q)$ by the set Π all quasipolynomials $\Pi_{\mu}^{\mathcal{D}}$:

$$E(f, \Pi)_{L_{\bar{p}}(Q)} = \inf_{\Pi_{\mu}^{\mathcal{D}} \in \Pi} \|f - \Pi_{\mu}^{\mathcal{D}}\|_{L_{\bar{p}}(Q)}.$$

Let s, s_k, i_s, j_s be natural numbers

Let's tak $\eta \subset \mathcal{D}, \bar{\eta} \stackrel{def}{=} \{s | \exists \delta \in \eta, s \in \delta\}, x_{\eta} = \{x_s, s \in \bar{\eta}\}.$

Let $x_s^{(i_s)} \in \Pi_{p_{x_s} Q}, 1 \leq i_s \leq \mu_s, x_s^{(1)} + (i_s - 1)h_s, h_s > 0, s \in \bar{\mathcal{D}}.$

In sequel, we'll need the denotation

$$\eta = \left\{ \eta^{(1)}, \dots, \eta^{(|\bar{\eta}|)} \right\},$$

$$\sum_{k_{\eta}=1}^{\mu_{\eta}} \stackrel{def}{=} \sum_{k_{\eta^{(1)}}=1}^{\mu_{\eta^{(1)}}} \dots \sum_{k_{\eta^{(|\bar{\eta}|)}}=1}^{\mu_{\eta^{(|\bar{\eta}|)}}};$$

$$|k_{\eta}| \sum_{s \in \bar{\eta}} k_s; f(\check{x}_{\eta}^{(1)}) \stackrel{def}{=} f(x_1, \dots, x_{j-1}, x_j^{(1)}, x_{j+1}, \dots, x_n)$$

$f(\check{x}_{\eta}^{(1)})$ is determined similar to $f(\check{x}_j^{(1)})$.

To the set \mathcal{D} we associate a family of operators

$$\nabla_{\mathcal{D}, \mu, \theta}^* : X(Q) \rightarrow X(Q) \text{ for}$$

$$\theta = \left(x_{\mathcal{D}^{(1)}}^{(1)}, \dots, x_{\mathcal{D}^{(1)}}^{(\mu_1)}, \dots, x_{\mathcal{D}^{(|\bar{\mathcal{D}}|)}}^{(1)}, \dots, x_{\mathcal{D}^{(|\bar{\mathcal{D}}|)}}^{(\mu(|\bar{\mathcal{D}}|))} \right) \in R^{\sum_{i=1}^{|\bar{\mathcal{D}}|} \mu_i},$$

determined in the following way

$$\begin{aligned} \nabla_{\mathcal{D}, \mu, \theta}^* f &= \sum_{|\eta|=0}^{|\mathcal{D}|} \sum_{\eta \subset \mathcal{D}} \sum_{k_{\eta}=1}^{\mu_{\eta}} (-1)^{|\mu_{\eta}| - |k_{\eta}| + |\eta|} f(\check{x}_{\eta}^{(k_{\eta})}) \prod_{s \in \bar{\eta}} k_s \binom{\mu_s}{k_s} \times \\ &\times \prod_{\tau_s=1}^{\mu_s} (x_s - x_s^{(\tau_s)}) \prod_{s \in \bar{\mathcal{D}}/\bar{\eta}} \mu_s! h_s^{\mu_s - 1} \end{aligned} \tag{3}$$

The following theorem show that a family of operators $\nabla_{\mathcal{D}, \mu, \theta}^*$ is an exact annihilator of a class of Π quasipolynomials $\Pi_{\mu}^{\mathcal{D}}$ in the space $L_{\bar{p}}(Q)$.

Theorem 1. For the function $f \in L_{\bar{p}}(Q)$ almost for all

$$f(x) = \Pi_{\mu}^{\mathcal{D}}(x), \nabla_{\mathcal{D}, \mu, \theta}^* f = 0, \text{ almost for all } (x, \theta) \in R^{n + \sum_{i=1}^{|\bar{\mathcal{D}}|} \mu_i} \tag{4}$$

Proof. Let's consider the expression $\nabla_{\mathcal{D}, \mu, \theta}^*$ determined in (3). First of all we should be convinced that for $\forall \delta$ and $0 \leq \alpha_i \leq \mu_i, i \in \delta$ a family of operators $\nabla_{\mathcal{D}, \mu, \theta}^* f$ are annihilated on the function $a(\hat{x}_\delta) x_\delta^{\alpha_i}$. Assume $\delta = \delta_1$. By $\nabla^{|\eta|}$ we denote addends in (3) that correspond to the values $0 < |\eta| \leq \mathcal{D}$, i.e.

$$\nabla_{\mathcal{D}, \mu, \theta} f = \sum_{|\eta|=0}^{|\mathcal{D}|} \nabla^{|\eta|} f \tag{5}$$

It is known that divided difference of one variable function of order r is an annihilator of a polynomial with respect to this variable of power $\leq r - 1$. Then $\forall s \in \overline{\mathcal{D}}$

$$\left[x_s^{(0)} x_s^{(1)} \dots x_s^{(\mu_s)} \right] P_{\mu_s-1} \stackrel{def}{=} \sum_{k_s=0}^{\mu_s} P_{\mu_s-1} \left(x_s^{(k_s)} \right) \left[\prod_{\substack{r_s=0 \\ r_s \neq k_s}}^{\mu_s} \left(x_s^{(k_s)} - x_s^{(r_s)} \right) \right]^{-1} = 0.$$

Hence, $\forall 0 \leq \alpha_s \leq \mu_s - 1$,

$$\sum_{k_s=0}^{\mu_s} \left(x_s^{(k_s)} \right)^{\alpha_s} \left[\prod_{\substack{r_s=0 \\ r_s \neq k_s}}^{\mu_s} \left(x_s^{(k_s)} - x_s^{(r_s)} \right) \right]^{-1} \prod_{0 \leq i_s \leq j_s \leq \mu_s} \left(x_s^{(i_s)} - x_s^{(j_s)} \right) = 0.$$

Since $x_s^{(0)} \stackrel{def}{=} x_s$ we have

$$\begin{aligned} \sum_{k_s=1}^{\mu_s} (-1)^{k_s-1} \left(x_s^{(k_s)} \right)^{\alpha_s} \prod_{\substack{0 \leq i_s \leq j_s \leq \mu_s \\ i_s, j_s \neq k_s}} \left(x_s^{(i_s)} - x_s^{(j_s)} \right) = \\ = x_s^{\alpha_s} \prod_{1 \leq i_s \leq j_s \leq \mu_s} \left(x_s^{(i_s)} - x_s^{(j_s)} \right) \end{aligned} \tag{6}$$

Determine a result of action of each addend $\nabla^{|\eta|}$ on the function

$$\varphi = \varphi(x) \stackrel{def}{=} a(\hat{x}_\delta) x_\delta^{\alpha_s}$$

For $\eta = \emptyset$

$$\nabla^{|\emptyset|} a(\hat{x}_\delta) x_\delta^{\alpha_s} = (\hat{x}_\delta) x_\delta^{\alpha_s} (\Pi x)_{\overline{\mathcal{D}}},$$

where $(\Pi x)_{\overline{\mathcal{D}}} \stackrel{def}{=} \prod_{s \in \overline{\eta}} \prod_{1 \leq i_s < j_s \leq \mu_s} \left(x_s^{(i_s)} - x_s^{(j_s)} \right)$.

For all values $|\eta|, \eta \neq \emptyset$

$$\nabla_I^{|\eta|} \varphi \stackrel{def}{=} \sum_{\substack{\eta \subset \mathcal{D} \\ \delta_1 \in \eta}} \sum_{k_\eta=1} (-1)^{|k_\eta| - |\overline{\eta}| + |\eta|} \varphi \left(\hat{x}_\eta, x_\eta^{(k_\eta)} \right) \left(\prod_{\neq k} x \right)_\eta (\Pi x)_{\overline{\mathcal{D}} \setminus \overline{\eta}},$$

where $\left(\prod_{\neq k} x \right)_\eta \stackrel{def}{=} \prod_{s \in \overline{\eta}} \prod_{0 \leq i_s < j_s \leq \mu_s} \left(x_s^{(i_s)} - x_s^{(j_s)} \right)$.

[A.M.-B.Babayev]

Using (5) we get:

$$\begin{aligned} \nabla_I^{|\eta|} \varphi &\stackrel{def}{=} \sum_{\substack{\eta \subset \mathcal{D} \\ \delta_1 \in \eta}} \left[\sum_{k_{\delta_1}}^{\mu_{s_1}} (-1)^{|k_{\delta_1}| - |\delta_1| + 1} \left(x_{\delta_1}^{(k_{\delta_1})} \right)^{\alpha_{\delta_1}} \left(\prod_{\neq k} x \right)_{\delta_1} \right] \times \\ &\times \left[\sum_{k_{\eta \setminus \delta_1=1}}^{\mu_{\bar{\eta} \setminus \delta_1}} (-1)^{|k_{\bar{\eta} \setminus \delta_1}| - |\bar{\eta} \setminus \delta_1| + |\eta \setminus \delta_1|} a \left(\hat{x}_\eta, x_{\bar{\eta} \setminus \delta_1}^{(k_{\bar{\eta} \setminus \delta_1})} \right)^{\alpha_{\delta_1}} \left(\prod_{\neq k} x \right)_{\bar{\eta} \setminus \delta_1} \right] \times \\ &\times (\Pi x)_{\overline{\mathcal{D}} \setminus \bar{\eta}} \stackrel{def}{=} - \sum_{\substack{\eta \subset \mathcal{D} \\ \delta_1 \in \eta}} x_{\delta_1}^{\alpha_{\delta_1}} \llbracket 1 (\Pi x)_{\overline{\mathcal{D}} \setminus (\bar{\eta} \setminus \delta_1)} \cdot \end{aligned}$$

Further we introduce the denotation

$$V_1 \stackrel{def}{=} \delta_1 \cap (\delta_{\eta_1} \cup \dots \cup \delta_{\eta_{|\eta|}}),$$

$$V_2 \stackrel{def}{=} (\delta_{\eta_1} \cup \dots \cup \delta_{\eta_{|\eta|}}) \setminus \delta_1;$$

$$V_3 \stackrel{def}{=} \delta_1 \setminus (\delta_{\eta_1} \cup \dots \cup \delta_{\eta_{|\eta|}}).$$

For all values $|\eta|, \eta \neq \emptyset$,

$$\begin{aligned} \nabla_{II}^{|\eta|} \varphi &\stackrel{def}{=} \sum_{\substack{\eta \subset \mathcal{D} \\ \delta_1 \notin \eta}} \sum_{k_{\delta_1}}^{\mu_{s_1}} (-1)^{|k_\eta| - |\bar{\eta}| + |\eta|} \varphi \left(\hat{x}_\eta, x_\eta^{(k_\eta)} \right) \left(\prod_{\neq k} x \right)_\eta (\Pi x)_{\overline{\mathcal{D}} \setminus \bar{\eta}} = \\ &= \sum_{\substack{\eta \subset \mathcal{D} \\ \delta_1 \in \eta}} \left[\sum_{k_{\delta_1}}^{\mu_{s_1}} (-1)^{|k_{V_1}| - |\bar{V}_1|} x_{V_1}^{(k_{V_1})} \left(\prod_{\neq k} x \right)_{M_1} \right] \times \\ &\times \left[\sum_{k_{\delta_1}}^{\mu_{V_2}} (-1)^{|k_{V_2}| - |\bar{V}_2| + |V_2|} a \left(\hat{x}_\delta, x_{V_2}^{(k_{\delta_2})} \right) \left(\prod_{\neq k} x \right)_{V_2} \right]_2 \times \\ &\times x_{V_3}^{\alpha_{V_3}} (\Pi x)_{V_3} \cdot (\Pi x)_{\overline{\mathcal{D}} \setminus (\bar{\eta} \cup \delta_1)} = \sum_{\substack{\eta \in \mathcal{D} \\ \delta_1 \notin \bar{\eta}}} x_{\delta_1}^{\alpha_{\delta_1}} \llbracket 2 (\Pi x)_{\overline{\mathcal{D}} \setminus \bar{\eta}} \cdot \end{aligned}$$

For each $\emptyset \neq \eta \subset \mathcal{D}$

$$\sum_{\eta \subset \mathcal{D}} = \sum_{\substack{\eta \subset \mathcal{D} \\ \delta_1 \in \eta}} + \sum_{\substack{\eta \subset \mathcal{D} \\ \delta_1 \notin \eta}} \quad (7)$$

By (6) we have

$$\nabla^{|\eta|} \varphi = \nabla_I^{|\eta|} \varphi + \nabla_{II}^{|\eta|} \varphi$$

Assuming $\|\eta\| = 1, \dots, |\mathcal{D}| - 1$ we can get

$$\nabla_{II}^{|\emptyset|} \varphi = -\nabla_I^{|\eta|+1} \varphi; \quad \nabla_{II}^{|\mathcal{D}|-1} \varphi = \nabla^{|\mathcal{D}|} \varphi.$$

By (5) these relations lead us to the following statement

$$\nabla_{\mathcal{D}, \mu, \theta}^* a(\hat{x}_\delta) x_\delta^{\alpha_s} = 0.$$

Finally, using linearity of the operator $\nabla_{\mathcal{D}, \mu, \theta} f$ and relation (6) almost for all $(x, \theta) \in R^{n + \sum_{i=1}^{|\mathcal{D}|} \mu_i}$ we get

$$\nabla_{\mathcal{D}, \mu, \theta}^* \Pi_{\mu}^{\mathcal{D}}(x) = \sum_{s=1}^{|\mathcal{D}|} \nabla_{\mathcal{D}, \mu, \theta} P_{\mu_{\delta_s}}(x) = \sum_{s=1}^{|\mathcal{D}|} + \sum_{\alpha_{\delta_s}=0}^{\mu_{\delta_s}-1} \nabla_{\mathcal{D}, \mu, \theta} a(\hat{x}_\delta) x_\delta^{\alpha_s} = 0.$$

Necessity is proved.

Relation almost for all $\theta \in R^{\sum_{i=1}^{|\mathcal{D}|} \mu_i}$, $\nabla_{\mathcal{D}, \mu, \theta} f = 0 \Rightarrow f = \Pi_{\mu}^{\mathcal{D}}(x)$ is proved by the determination $\nabla_{\mathcal{D}, \mu, \theta}^* f$ and quasipolynomial. Now, let $\nabla_{\mathcal{D}, \mu, \theta}^* f = 0$. By (5)

$$\nabla^{|\mathcal{D}|} f + \sum_{|\eta|=1}^{|\mathcal{D}|} \nabla^{|\eta|} f = 0$$

or

$$\begin{aligned} f(x) \prod_{s \in \overline{\mathcal{D}}} \mu_s! h_s^{\mu_s-1} + \sum_{|\eta|=1}^{|\mathcal{D}|} \sum_{\eta \subset \mathcal{D}} \sum_{k_\eta=1}^{\mu_\eta} (-1)^{|\mu_\eta| - |k_\eta| + |\eta|} f(\check{x}_\eta^{(k_\eta)}) \prod_{s \in \overline{\eta}} k_s \binom{\mu_s}{k_s} \times \\ \times \prod_{\tau_s=1}^{\mu_s} (x_s - x_s^{(\tau_s)}) \prod_{s \in \overline{\mathcal{D}/\overline{\eta}}} \mu_s! h_s^{\mu_s-1} = 0 \Rightarrow \\ f(x) \prod_{s \in \overline{\mathcal{D}/\overline{\eta}}} \mu_s! h_s^{\mu_s-1} = \Pi_{\mu}^{\mathcal{D}}(x) + \sum_{|\eta|=2}^{|\mathcal{D}|} \nabla^{|\eta|} f. \end{aligned} \quad (8)$$

where the first addend is a quasipolynomial determined in (1).

It is clear from determination of $\nabla^{|\eta|} f$ that for $|\eta| \geq 2$ each addend in the second sum of (8) is a partial case of any $P_{\mu_\delta}(x)$, $\delta \in \mathcal{D}$. Therefore, relation (8) allows that $f(x)$ is a generalized quasipolynomial of order $\mu_{\mathcal{D}} - 1$. Theorem 1 is proved.

Theorem 2. *The best approximation of the function $f \in L_{\overline{p}}(Q)$ $0 < \overline{p} < \infty$ by means of the set of quasipolynomials $\Pi_{\mu}^{\mathcal{D}}(x)$ may be lower estimated in the following way*

$$c^*(\mu_{\mathcal{D}}, p) \sup_{\theta} \left\| \nabla_{\mathcal{D}, \mu, \theta}^* f \right\|_{L_{\overline{p}}(Q)} \leq E_{\overline{p}}(f, \Pi) \quad (9)$$

where $\left\{ \nabla_{\mathcal{D}, \mu, \theta}^* \right\}$ is an exact annihilator of a class of quasipolynomials, and

$$c^*(\mu_{\mathcal{D}}, p) = \left(\prod_{s \in \overline{\mathcal{D}}} k_s \binom{\mu_s}{k_s} \sum_{\eta \subset \overline{\mathcal{D}}} \prod_{s \in \overline{\eta}} \mu_s \right)^{-\gamma}; \quad \gamma = \max \left(1, \frac{1}{p} \right).$$

[A.M.-B.Babayev]

Proof of theorem 2. By theorem 1 the family $\left\{ \nabla_{\mathcal{D}, \theta}^* f \right\}$ is of exact annihilator of class $\Pi_{\mu}^{\mathcal{D}}(x)$. Then for any $\Pi_{\mu}^{\mathcal{D}}(x) \in \Pi$ almost for all $\theta \in R^{\sum_{i=1}^{|\overline{\mathcal{D}}|} \mu_i}$, $\nabla_{\mathcal{D}, \theta}^* f \Pi_{\mu}^{\mathcal{D}}(x) = 0$ by the fact that the operators ∇ are linear, we have

$$\left\| \nabla_{\mathcal{D}, \theta}^* f \right\|_{\overline{p}} = \left\| \nabla_{\mathcal{D}, \theta}^* f - \nabla_{\mathcal{D}, \theta}^* \Pi_{\mu}^{\mathcal{D}}(x) \right\|_{\overline{p}} = \left\| \nabla_{\mathcal{D}, \theta}^* (f - \Pi_{\mu}^{\mathcal{D}}(x)) \right\|_{\overline{p}}.$$

Further

$$\left\| \nabla_{\mathcal{D}, \theta}^* f \right\| \leq c^*(\mu_{\mathcal{D}}, p) \|f - \Pi_{\mu}^{\mathcal{D}}(x)\|.$$

The right hand side of the inequality is independent of θ , that gives

$$c^*(\mu_{\mathcal{D}}, p) \sup_{\theta} \left\| \nabla_{\mathcal{D}, \theta}^* f \right\|_{\overline{p}} \leq \|f - \Pi_{\mu}^{\mathcal{D}}(x)\|_{\overline{p}}.$$

And the left hand side of the inequality is independent of $\Pi_{\mu}^{\mathcal{D}}(x)$ therefore. F

From the last relation we get

$$c^*(\mu_{\mathcal{D}}, p) \sup_{\theta} \left\| \nabla_{\mathcal{D}, \theta}^* f \right\|_{\overline{p}} \leq \inf_{\Pi_{\mu}^{\mathcal{D}}(x)} \|f - \Pi_{\mu}^{\mathcal{D}}(x)\|_{\overline{p}}$$

whence

$$c^*(\mu_{\mathcal{D}}, p) \sup_{\theta} \left\| \nabla_{\mathcal{D}, \theta}^* f \right\|_{\overline{p}} \leq E(f, \Pi)_{L_{\overline{p}}(Q)}$$

$$c^*(\mu_{\mathcal{D}}, p) \sup_{\theta} \left\| \nabla_{\mathcal{D}, \theta}^* f \right\|_{\overline{p}} \leq E[f, \Pi_{\mu}^{\mathcal{D}}(x)]_{\overline{p}}$$

Theorem 2 is proved.

Theorem 3. The best approximation of the function $f \in L_{\overline{p}}(Q)$, $0 < \overline{p} < \infty$ by means of the of quasipolynomials $\Pi_{\mu}^{\mathcal{D}}(x)$ may be upper estimated in the following way

$$E_{\overline{p}}(f, \Pi) \leq B^*(\mu_{\overline{\mathcal{D}}}) \sup_h \left\| \nabla_{\mathcal{D}, \theta}^* f \right\|_{L_{\overline{p}}(Q)} \quad (10)$$

where

$$B^*(\mu_{\overline{\mathcal{D}}}) = \prod_{s \in \overline{\mathcal{D}}} (\mu_s!)^{-1} (\mu_s - 1)^{\mu_s - 1}.$$

Proof. We write relation (5) in the form

$$\nabla_{\mathcal{D}, \theta} f = \nabla^{|\mathcal{O}|} f + \sum_{|\eta|=1}^{\overline{\mathcal{D}}} \nabla^{|\eta|} f$$

and allowing for the structure of the operator $\nabla_{\mathcal{D}, \theta}$ we can easily see that almost for each fixed variable $x_s^{(i)}$ it holds the representation

$$\nabla_{\mathcal{D}, \theta} f = f(x) \prod_{s \in \overline{\mathcal{D}}} \mu_s! h_s^{\mu_s - 1} + \Pi_{\mu}^{*\mathcal{D}}(x),$$

where $\Pi_{\mu}^{*\mathcal{D}}(x)$ is finite quasipolynomial of order $\mu_{\mathcal{D}} - 1$. Taking this into account we have

$$\begin{aligned} \left\| \nabla_{\mathcal{D}, \theta}^* f \right\|_{L_{\bar{p}}(Q)} &= \left\| f(x) \cdot \prod_{s \in \mathcal{D}} \mu_s! h_s^{\mu_s - 1} + \Pi_{\mu}^{*\mathcal{D}}(x) \right\|_{L_{\bar{p}}(Q)} \geq \\ &\geq \inf_{\Pi_{\mu}^{\mathcal{D}} \in L_{\bar{p}}(Q)} \left\| f(x) \cdot \prod_{s \in \mathcal{D}} \mu_s! h_s^{\mu_s - 1} - \Pi_{\mu}^{*\mathcal{D}}(x) \right\|_{L_{\bar{p}}(Q)} = \\ &= E \left[f(x) \cdot \prod_{s \in \mathcal{D}} \mu_s! h_s^{\mu_s - 1}, \Pi \right]_{L_{\bar{p}}(Q)}. \end{aligned}$$

Since for an arbitrary constant

$$E [cf(x), \Pi]_{L_{\bar{p}}(Q)} = cE [f(x), \Pi]_{L_{\bar{p}}(Q)},$$

we above-mentioned relation allows to write

$$\left\| \nabla_{\mathcal{D}, \theta}^* f \right\|_{L_{\bar{p}}(Q)} \geq \left| \prod_{s \in \bar{\mathcal{D}}} \mu_s! h_s^{\mu_s - 1} \right| E [f(x), \Pi]_{L_{\bar{p}}(Q)}$$

whence it follows that or

$$\begin{aligned} \sup_h \prod_{s \in \bar{\mathcal{D}}} \mu_s! h_s^{\mu_s - 1} E [f(x), \Pi]_{L_{\bar{p}}(Q)} &\leq \sup_h \left\| \nabla_{\mathcal{D}, \theta}^* f \right\|_{L_{\bar{p}}(Q)} \Rightarrow \\ \prod_{s \in \bar{\mathcal{D}}} \mu_s! \frac{1}{(\mu_s - 1)^{\mu_s - 1}} E [f(x), \Pi]_{L_{\bar{p}}(Q)} &\leq \sup_h \left\| \nabla_{\mathcal{D}, \theta}^* f \right\|_{L_{\bar{p}}(Q)} \end{aligned}$$

or

$$\begin{aligned} E [f(x), \Pi]_{L_{\bar{p}}(Q)} &\leq \prod_{s \in \bar{\mathcal{D}}} \frac{(\mu_s - 1)^{\mu_s - 1}}{\mu_s!} \sup_h \left\| \nabla_{\mathcal{D}, \theta}^* f \right\|_{L_{\bar{p}}(Q)} = \\ &= B^*(\mu_{\bar{\mathcal{D}}}) \sup_h \left\| \nabla_{\mathcal{D}, \theta}^* f \right\|_{L_{\bar{p}}(Q)} \end{aligned} \tag{11}$$

The theorem is proved.

The order of the best approximation of the function $f \in L_{\bar{p}}(Q)$ by the set of quasipolynomials $\Pi_{\mu}^{\mathcal{D}}(x)$ namely

$$E [f, \Pi_{\mu}^{\mathcal{D}}]_{L_{\bar{p}}(Q)} \asymp \sup_h \left\| \nabla_{\mathcal{D}, \theta}^* f \right\|_{L_{\bar{p}}(Q)}. \tag{12}$$

Follows from theorem 2 and 3.

References.

- [1]. Babaev M.-B.A. *Estimates of the best approximation by the quasipolynomials*. Proc. of Saratov winter school 2., 1984, part 1, pp.91-98. (Russian)
- [2]. Babaev A.M.-B. *On the lower bound estimation of the best approximation*. Proceedings of Institute Mathematics and Mechanics, vol. 17, Baku, 2002, pp.28-32.

Arzu M.-B. Babayev

Institute of Mathematics and Mechanics of NAS of Azerbaijan

9, F. Agayev str., AZ1141, Baku, Azerbaijan

Tel.: (99412) 434 44 51; 438 62 17 (off.)

Received July 12, 2006; Revised October 10, 2006.